Письмово виконати завдання

1.Закінчити рівняння реакцій:

А) HCl+K2SO4= 2KCI+H2SO4              
 Д) CO2+ Mg(OH)2=MgCO3+H2O
Б) Н2SO4+2KOH=K2SO4+H2O                                   

 Е) BaO+ 2HNO3=Ba(NO3)2+H2O
В) HCl+Na2SO4=    2NaCI+H2SO4                          

  Є) CO2+ Ba(OH)2=BaCO3+H2O
Г) Н2SO4+2LiOH=   Li2SO4++H2O                           

Ж) ZnO+ HNO3= Zn(NO3)2+H2O
2. Здійснити перетворення:

Zn→ZnO→Zn(OH)2→ZnSO4
2Zn+O2=2ZnO
ZnO+H2O=Zn(OH)2

Zn(OH)2+H2SO4=ZnSO4+2H2O

Mg→MgO→Mg(OH)2→MgSO4
Mg+O2=2MgO
MgO+H2O=Mg(OH)2

Mg(OH)2+H2SO4=MgSO4+2H2O
